#### कार्यालय प्राचार्य

#### टाकुर शोभासिंह शासकीय महाविद्यालय पत्थलगांव, जिला – जशपुर (छ०ग०)

क्रमांक / 379 / पो.मै.छात्रवृत्ति / 2019–20

पत्थलगांव, दिनाँक - 2...८०.२.०

प्रति,

सहायक आयुक्त, आदिवासी विकास, जशपुर (छ.ग.)

विषय :- पोस्ट मैट्रिक ऑन लाईन छात्रवृत्ति स्वीकृति की जानकारी वर्ष 2019–20 का प्रेषण।

--000--

उपर्युक्त विषयान्तर्गत इस महाविद्यालय के छात्र—छात्राओं (कुल 511) की पोस्ट मैट्रिक ऑन लाईन छात्रवृत्ति स्वीकृति (वर्ष 2019–20) की जानकारी आवश्यक कार्यवाही हेतु प्रेषित है:—

स.क.	वर्ग	संख्या	स्वीकृति राशि	रिमार्क
1	अ.ज.जा. (नवीन)	146	736229	
2	अ.ज.जा. (नवीनीकरण)	173	879236	·
3	अ.जा. (नवीन)	29,	148583	
4	अ.जा. (नवीनीकरण)	36 ,	189087	
5	अ.पि.व. (नवीन)	51	135804	- 22-17
6	अ.पि.व. (नवीनीकरण)	76	208962	Н
	योग	511	2297901	

(शब्दों में - बाईस लाख संतानवे हजार नौ सौ एक रूपये मात्र)

संलग्न -

- 1. ड्राफ्ट प्रपोजल की सूची।
- 2. स्वीकृति लॉक की सूची ।
- 3. के.वाय.सी. रिपोर्ट ।
- 4. प्रमाण पत्र।
- 5. गोशवारा।

(एन) कैंग्रेडिंग (एन) किंग्रेडिंग (एन)



Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category:

Institute Name: GOVT. COLLAGE PATHALGOAN

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/2396/2/7/95139

Sanction Date: 28/01/2020

Applications Type: Fresh

							riesii	b. Sc./Science/1	reilidie	TOJUST OFMA PAINARA
4837	1837	1837	0	3000	300	10	T	P Co /Colonso/T	Comple	ACETORA LIDMA DATNIKOA
4837	1837	1837	0	3000	300	10	Fresh	B. Sc./Science/I	Male	1649906 PANKAJ KUMAR
4837	1837	1837	0	3000	300	10	Fresh	B. Sc./Science/I	Female	1657792 VIMLA BHAGAT
9127	3827	3827	0	5300	530	10	Fresh	M. Com./ABST/I	Female	1230229 SEROFINA KUJUR
9127	3827	3827	0	5300	530	10	Fresh	M. A./Sociology/I	Female	1646610 ANITA SIDAR
9127	3827	3827	0	5300	530	10	Fresh	M. A./Sociology/I	Female	1421193 SHAHUNTALA PAINKRA
9127	3827	3827	0	5300	530	10	Fresh	M. A./Sociology/I	Female	1252910 SUMANTI SIDAR
9127	3827	3827	0	5300	530	10	Fresh	M. A./Sociology/I	Female	661206 Jamuna Bai
4837	1837	1837	0	3000	300	10	Fresh	B. Sc./Science/I	Male 💉	1655864 SHANKAR SAY SIDAR
9127	3827	3827	0	5300	530	10	Fresh	M. Com./ABST/I	Female	1253705 ANKITA TIRKEY
9127	3827	3827	0	5300	530	10	Fresh	M. Com./ABST/I	Female	1586690 PRIYA SIDAR
4837	1837	1837	0	3000	300	10	Fresh	B. A./Arts/I	Female	1630696 MUNNI BAI
4837	1837	1837	0	3000	300	10	Fresh	B. A./Arts/I	Female	1628776 PRERNA MINJ
4837	1837	1837	0	3000	300	10	Fresh	B. A./Arts/I	Female	1628876 RANJITA MINJ
4837	1837	1837	0	3000	300	10	Fresh	B. A./Arts/I	Female	1617357 DEEPIKA BHAGAT
4837	1837	1837	0	3000	300	10	Fresh	B. A./Arts/I	Female	1615374 ANKITA EKKA
4837	1837	1837	0	3000	300	10	Fresh	B. A./Arts/I	Male 1	1008475 BHUNESHWAR PRASAD

### Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the serial no. 1 to/46 I do here by sanctioning a sum of Rs/362..2.30ut of which Rs/54100s maintenance allowance and Rs. ....as tuition and other fees. Rrinted copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from s detected.

Name (Capital Laters):

(Signature & Stall

of Head of the Institution)

Govt.College,Pathalgaen

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT, COLLAGE PATHALGOAN

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/2396/2/7/95139

Sanction Date: 28/01/2020

2		
3		
遊		
3		
81		
3		
3		
91		
2		
3		
81		
ä١		
31		
3		
ā		
ä		
8		
1		
91		
<u>u</u> .		
16		
4		
И		
3		
Market Mills		
4		
請		
1		
8		
ă.		
3		
ă,		
7		
12		
2		
8		
24		
庭		
1		
9.	1	
91		
闘	at .	
38		
a		
8		
81 81		
Carried House		
81 81	≱	
STATE NO	App	
STATE NO	Appli	
COURSESSEEM DO	Applic	
STATE NO	Applicat	
COURSESSEEM DO	Application	
COURSESSEEM DO	Application	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Application	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Ty	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Typ	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type:	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type:	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type:	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type:	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type:	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type:	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type: Fresh	
CONTRACTOR STATES AND DESCRIPTION OF THE PERSON OF THE PER	Applications Type: Fresh	
	Applications Type: Fresh	

	Student Name	Gender	естиод	Type	No of	Rate Mail	ntenence   Tuition Fe	e Otto	er Fee   Tot	Total Fee Total	Total Amount
	1659436 GITESH KUMAR	Male ,	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4827
	1701763 MILIYANI KERKETTA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1739568 DHANESHWARI RATHIA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
1	1731170 NAYENDER KUJUR	Male /	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1655979 SANGEETA EKKA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1701704 KAVITA NAG	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1715402 NITESH SINGH	Male /	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1707702 SUMIT SAURABH TIRKEY	Male /	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
Ĺ	1715764 AKANSHA TOPPO	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1739305 GEETA BHAGAT	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1739505 DIMPAL VASUNDHARA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1709165 ANJALI TIRKEY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1706470 NANDLAL SIDAR	Male /	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1713201 RANI RATHIA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1730663 RAVINA SIDAR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1649268 KALPANA RATHIA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1648973 GEMESHWARI RATHIA	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	4837
	1727476 SAVITA BHAGAT	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	: 1837	4837

### Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the parties. Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to/46 I do here by sanctioning a sum of Rs 7.362.2.9 Out of which Rs 541.03 maintenance allowance and Rs.....as tuition and other fees Printed copy of online candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise diskontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardon from all sources of the is detected.

Place: Justialyword Date: 29.01.2020

(Signature & Searof Head of the Institution)
Namp (CHOCHERS):

Govt.College,Pathalgaon

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLAGE PATHALGOAN

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/2396/2/7/95139

Applications Type: Fresh Sanction Date: 28/01/2020

Application ID Student Name	Gender	(College	Type	No. of	Rate Nail	alintenenee Tulti	tion Fee Other Fee	THE PERSON NAMED IN	Total Fee Tota	thuomik leter
			1	TO TO	300	3000	0	1837	1837	4837
1/12103 3117 1170	rellidie	p. sc./science/1		5 3	300	3000	0	1837	1837	4837
1741325 KUSUM PAINKRA	Female	B. Sc./Science/I	Fresh	10	500	0000	) (			4037
1715489 HIMRAJ SINGH	Male /	B. Sc./Science/I	Fresh	10	300	3000	0	1837	183/	4837
1603601 BAKHT SIDAR	Eemale	B Com /Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
TOSCOST LANGIT SICAN	rellidie	b. Com/Commerce/1	110011		3	2000	0	1837	1837	4837
1722131 DEEPIKA LAKRA	Female	B. Com./Commerce/I	Fresh	10	300	3000		1027	1007	1007
1494126 PRIYANKA NAG	Female	B. Sc./Science/I	Fresh	10	300	3000	0	183/	1837	463/
1614041 AMRITA TIRKEY	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1837	1837	483/
1635331 BOOMAM MINIT	Female	R Sc /Science/I	Fresh	10	300	3000	0	1837	1837	4837
		B Co /Colonso/T	Frech	10	300	3000	0	1837	1837	4837
1644235 PREETI SIDAK	relidie	p. 3c./3cleince/1				2000	>	1027	1837	4837
1725775 MANOJ KUMAR LAKRA	Male 1	B. Com./Commerce/I	Fresh	10	300	3000	c	163/	1037	100
1739296 ROSHANDEEP XALXO	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1649487 GAYATRI SIDAR	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1654737 RAVI RAJ	Male \	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1656538 ROSHNI FKKA	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1667710 ANOCH YESS	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1658280 TAY SHOW	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1741350 KISHOR KERKETTA	Male \	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1718710 BABLI SIDAR	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837

### Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guar lian from all sources of the serial no. 1 to/46 do here by sanctioning a sum of Rs/3622.9. Out of which Rs/36/100s maintenance allowance and Rs. ....as tuition and other fees Printed copy of online Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from t is detected.

Place: Puthwighorn
Date: 2-6.01, 2020

(Signature & Name Ray (Graplers): of Head of the Institution)

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: GOVT. COLLAGE PATHALGOAN

Academic Year: 2019-20

State: Government of Chhattisgarh

Sanction Number: N/9/2396/2/7/95139

Sanction Date: 28/01/2020

Applications Type: Fresh

Application ID Student Name	Gender	Course	Туре	No. of	Rate Mai	ntenence Tui	tion Fee O	ence Tuition Fee Other Fee Total Fee	Total Fee Total	a) Amount
1668419 SAMINA TIRKEY	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1729669 NEHA SIDAR	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1739603 PHILMON EKKA	Male ,	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1628729 KANTI BAI	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1619544 PRINCE XALXO	Male /	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1644169 PRAMOD KUMAR RATHIA	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1646871 AJIT KUJUR	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1639288 SUKHAN MINJ	Male ,	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1650047 GAYATRI BAI PAINKRA	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1837	1837	4837
1629219 ESNEHA TIGGA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1633325 GUNJA BAI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1639309 RAMPYARI PAINKRA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1639019 SUMAN NAG	Female	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1643635 RAJESH EKKA	Male /	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1648940 SANJEETA KERKETTA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1647103 VIVEK MINJ	Male '	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1649172 ALBINA KUJUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1837	1837	4837
1649124 AVINASH LAKRA	Male /	B. A./Arts/I	Fresh	10	300	3000	, 0	1837	1837	4837

#### Declaration:

any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the negative is detected. candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise dispontinues the studies or accepts scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Gualdan from all sources of the

Place: Pathalgord

(Signature & Bartof Head of the Institution)
Name (Capitafileters):
Govt.College,Pathalgaon